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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1699 8.8 2.9 15 58.5 100
2 1696 3.6 2.1 10 35.9 99.8
3 1672 3 2.2 10 30.5 98.4
4 1697 13.4 3.7 25 53.4 99.9
5 1693 4.5 2.3 10 45.3 99.7
6 1694 4 2.6 15 26.6 99.7
7 1690 6.8 4 20 34 99.5
8 1690 6.2 2.6 15 41 99.5
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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SECTION B 
 


Question   
On 


Paper 
Question 


Totals 
Overall 
TOTAL 


5 (a) (i) No answer or incorrect answer - 0 mark 0    
   Only acceptable answers: 


BESPOKE PRODUCTION 
CONTINUAL FLOW PRODUCTION 
JIT 


 
1 
1 
1 


 
  
 
3 
 


 
 


 


  (ii) No answer or answers are incorrect – 0 marks 0    
   Answers that clearly demonstrate an understanding of  the 


advantages and disadvantages of mass produced clothing 
for the customer should be credited with one mark for each 
part question based on: 
ADVANTAGES – economies of scale allow for cheaper 
clothing prices; available in a large range of colours, sizes 
and styles; easy to find what you want when so many are 
produced. 


 
 
 


 
 
 


  


   Award one mark for a simple statement for example:  prices 
are generally cheaper because manufacturers can buy 
materials cheaper in bulk passing on the saving. 


 
 


1 


   


   DISADVANTAGES – everyone else may be wearing the 
same outfit; no individuality; cheaper materials often used – 
sometimes inferior quality; standard sizes – issues with ‘fit.’ 


    


   Award one mark for a simple statement for example: as so 
many are produced many others may be wearing the same 
outfits. 
 


 
1 


 
2 


 
5 


 


 (b) (i) No answer or incorrect answer – 0 mark    0    
   Answers that indicate an understanding of the main 


differences between a mood board and trend board should 
be credited with up to two marks based on: mood boards 
set the scene for the overall style or feel the designers want 
for their designs; to communicate ideas, feelings and style’s 
that they intend to capture in their designs – inspiration. 
Story boards “tell the story” of the designer’s idea; the 
storyboard includes original illustrations and flats, as well as, 
additional materials (such as photos from the internet or 
magazines, paper, fabric swatches, patterns, etc.) that have 
influenced the unique design. They often have a title that will 
sum up the theme. 


 
 
 


 
 
 


  


   Award one mark for a simple statement for example: mood 
boards display images which can be used for inspiration for 
new ideas. 


 
1 


   


   Award two marks for a developed response for example: 
mood boards contain images which can be used as 
inspiration for new ideas whereas story boards contain 
original illustrations and designs (flats) based on the 
inspirational material. 
 


 
 


2 


 
 


2 
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Question   
On 


Paper 
Question 


Totals 
Overall 
TOTAL 


  (ii) No answer or an incorrect answer: 0 mark 0    
   Answers that show a clear understanding of how fashion 


forecasters support the work of designers should be 
credited based on: fashion forecasters are specialists who 
work on predicting future trends; they gather information 
about lifestyles, new technologies, new materials, popular 
culture and other fields of design to predict what will be 
popular in a few years’ time. Designers use these 
predictions to ensure that their designs will be relevant and 
on trend at the appropriate time.  


    


   Award one mark for a simple response for example: the 
designer needs to know what will be popular/in fashion in a 
few years’ time. 


 
1 


   


   Award two marks for a developed response for example: the 
designer needs to know what will be popular/in fashion in a 
few years’ time so they rely on fashion forecasters to inform 
them of the trends to focus on. 


 
 
 


2 


   


   Award three marks for a fully developed response for 
example: designers often work on designs 2 or 3 years 
before they reach the shops; they rely on fashion 
forecasters to tell them what is going to be fashionable in 
the future based on the research they have done. Designers 
need reassurance that their designs will be fashionable 
when they reach the shops. 
 


 
 
 
 
 


3 


 
 
 
 
 


3 


 
 
 
 
 


5 


 


   Total for Question 5   10 70 
 
  








Sticky Note

Candidate has not made any reference to a story board which 'tells the story' of the designer's idea. It usually includes original illustrations and flats, material swatches, photos and magazine cuttings that have influenced the design. To gain the extra marks candidates need to clearly demonstrate specific knowledge of a story board.












Sticky Note

This could be said of other production methods; it is not specific enough for a mark. Acceptable answers include:economies of scale allow for cheaper clothing prices; available in a large range of colours, sizes and styles; easy to find what you want when so many are produced.



Sticky Note

The answer is clearly incorrect - it does not demonstrate sufficient understanding for a mark to be awarded. Acceptable answers include for example: everyone else may be wearing the same outfit; no individuality; cheaper materials often used – sometimes inferior quality; standard sizes – issues with ‘fit.’



Sticky Note

Some understanding although it is limited. The part relating to a story board is incorrect. An good answer to this question could be: Mood boards contain images which can be used as inspiration for new ideas whereas story boards contain original illustrations and designs (flats) based on the inspirational material. This response typifies what is needed for 2 marks.



Sticky Note

A good response worthy of 3 marks. 












Sticky Note

A good basic answer but not sufficiently detailed for two marks. If the candidate had referred to identical items or given an indication of quantity then the additional mark could have been awarded.



Sticky Note

A slightly vague answer but some understanding regarding a time scale. The candidate could have indicated 'seasonal' or 'designer' ranges or been more specific regarding quantity for an extra mark.



Sticky Note

The answer is correct but not sufficiently detailed for two marks. Any of the following would have been credited for the additional mark: made to fit the customer; customer could have input into the design; status symbol for customer.







Sticky Note

A correct answer but the explanation is limited therefore only worth two marks. The candidate has not stated in sufficient detail the impact for the manufacturer. In other words - what difference would a change in the size mean for the manufacturer? 
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Section B
	


Marked out of 60             60 minutes


5.	 This question is about Commercial Manufacturing Processes. It is worth a total of 10 marks.


	 (a)	 (i)	 Place a tick (√) in the table below to match the production term to the correct 
description.	 3 × [1]


	 (ii)	 Mass produced clothing has both advantages and disadvantages for the customer.
		  Describe one advantage and one disadvantage to the customer of mass produced 


clothes.


		  Advantage: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


			  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]


		  Disadvantage: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


			  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]


	 (b)	 (i)	 Describe the main difference between a mood board and a story board.	 [2]


	


	


	


	 (ii)	 Explain how the work of fashion forecasters supports designers when developing 
new collections.	 [3]


	


	


	


	


	


© WJEC CBAC Ltd.


Description Just-in-time 
(JIT)


Bespoke 
production


Continual flow 
production


A single product made for an individual 
client’s requirements.


Volume production working 24 hours a 
day and is never shut down. 


A stock control system of ordering 
materials for use in the production line.
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Question   
On 


Paper 
Question 


Totals 
Overall 
TOTAL 


6 (a) (i) No answer or does not identify the correct method of 
construction  – 0 mark 


0    


   
 


Only acceptable answers: 
WEFT KNITTING 
TWILL WEAVE 


 
1 
1 


 
 
2 


 
 
 


 


  (ii) No answer or an answer that does not refer to a disadvantage 
of a satin weave  -  0 mark 


0    


   Award one mark for a correct answer based on: the threads 
lying on top of the warp threads can snag easily. 


 
1 


 
1 


 
3 


 


 (b)  (i) No answer or an incorrect answer - 0 mark 0    
   Only one acceptable answer: plants  1    


  (ii) No answer or an incorrect answer - 0 mark 0    
   Only one acceptable answer: lustre 


 
1 2 2  


 (c) (i) No answer or an incorrect answer - 0 mark 0    
   Award up to two marks for answers that show a clear 


understanding of the difference between a mixed and blended 
fibre based on: a mixed fibre is when two different fibres are 
mixed together in the production of the fabric whereas a blend 
is when different fibres are spun together to make a yarn.  


 
 
 


   


   Award one mark for a simple response for example:  
fibres are mixed together to make a yarn; OR 
fibres are mixed together to make the material. 


1    


   Award two marks for a developed response for example: 
mixing fibres takes place during the construction of the material 
but blended fibres are spun together to make a yarn before 
making the material. 


 
 
2 


 
 
2 


 
 
 


 


  (ii) No answer or the answer is incorrect - 0 marks 0    
   


 
Award up to two marks for answers that clearly demonstrate an 
understanding of regenerated fibres based on: cellulosic fibres 
(plant based) usually from wood pulp, mixed with a chemical 
which allows the fibres to be extracted; they are part natural 
and part artificial. 


   
 


 


   Award one mark for a basic response for example: made from 
wood pulp but with some chemicals. 


 
1 


 
 


  


   Award two marks for a fully developed response for example: 
they are part natural/plant based but chemicals have to be 
added to extract the fibres from the source – mainly wood pulp. 


 
 
2 


 
 
2 


 
 
 


 


  (iii) No answer or the answers are incorrect. 0 mark 0    
   Award one mark for each correct answer based on: viscose; 


rayon; acetate; triacetate; modal; Tencel; Lyocell 
 


1 
1 


 
2 


 
6 


 


 (d)  No answer or the answers are incorrect - 0 mark 0    
   Award one mark for each answer based on:  


Name 1: Photochromic dyes/material (1 mark) 
These dyes allow materials to change colour in response to 
changes in light. (1 mark) 
Name 2: Thermochromic dyes/material (1 mark)  
These dyes allow material to change colour in response to 
changes in temperature. (1 mark) 
Accept answers relating to:  
Solvation chromism usually used in nappies allows the fabric to 
change colour when exposed to moisture. 


 
1 
 
1 
1 
 
1 
 
 
 


 
 
 
 
 
4 


 
 
 
 
 
4 


 


   Total for Question 6   15 85 
  








Sticky Note

An incorrect answer. The picture shows weft knitting.







Sticky Note

There is sufficient knowledge for one mark although it lacks clarity and depth of knowledge. Mixed fibres come together in the manufacture of a fabric (different yarns) whereas blended fibres come together to produce a yarn.  



Sticky Note

An incorrect answer - no knowledge shown. Regenerated fibres are cellulosic fibres (plant based) usually from wood pulp, mixed with a chemical in the extraction process; part natural and part artificial. Responses were generally poor.



Sticky Note

Correct answers could include: viscose, rayon, acetate, triacetate, modal, Tencel, Lyocell.



Sticky Note

The correct answer for the response that follows is Photochromic.



Sticky Note

The correct answer is Thermochromic which would match the description in the next part of the question.












Sticky Note

Some understanding but lacking sufficient detail for a mark to be awarded. A better answer worth one mark could be: the threads lying on top of the warp threads can snag easily.



Sticky Note

Properties of materials are generally an area of weakness as in this case. The correct answer is: lustre.







Sticky Note

The answer is confused with a general lack of clarity in the answer. There is some understanding but it is insufficient for a mark. A good exemplar answer worth two marks: mixing fibres takes place during the construction of the material but blended fibres are spun together to make a yarn before making the material.



Sticky Note

The answer is incorrect. An answer worth two marks would have two strands included in the answer for example: they are part natural/plant based but chemicals have to be added to extract the fibres from the source – mainly wood pulp.





Sticky Note

Both acceptable answers.



Sticky Note

A correct answer with a good description.



Sticky Note

A correct answer with a good description. Another acceptable answer: Solvation chromism usually used in nappies allows the fabric to change colour when exposed to moisture.












Sticky Note

Both answers are incorrect.

Image on left - weft knitting

Image on right - twill weave





Sticky Note

The answer is not specific enough for a mark as this could apply to other weaves. it is generally considered that the weft yarns lying on top of the warp yarns can snag more easily. This would be a clear disadvantage in materials with this weave.



Sticky Note

The source of cellulosic fibres is plants.







Sticky Note

Some understanding in the second part of the answer, it implies making a single yarn with two fibres - worth one mark although it is poorly explained!





Sticky Note

This answer has been rather generously awarded a mark! 

There is some understanding shown in this answer but overall it lacks the the specific knowledge needed for any marks to be awarded. 

A one mark answer: made from wood pulp but with some chemicals.

A two mark answer: they are part natural/plant based but chemicals have to be added to extract the fibres from the source – mainly wood pulp.



Sticky Note

Other acceptable answers include: rayon; acetate; triacetate; modal; Tencel; Lyocell



Sticky Note

The answers included here are all incorrect although the candidate has shown some understanding of how smart materials can change appearance under certain conditions.  Acceptable answers include: 

Photochromic dyes/material (1 mark)

These dyes allow materials to change colour in response to changes in light. (1 mark)

Thermochromic dyes/material (1 mark) 

These dyes allow material to change colour in response to changes in temperature. (1 mark)



Solvation chromism usually used in nappies allows the fabric to change colour when exposed to moisture.
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6.	 This question is about Materials and Components.  It is worth a total of 15 marks.


	 (a)	 (i)	 Underline the correct name for each type of material construction shown in the 
pictures below.	 2 × [1]


	 (ii)	 In the construction of a satin weave the weft yarns lie over a number of warp yarns 
as shown in the diagram below.


		  Describe one disadvantage of using a material with this type of construction.	 [1]


	


	


	 (b)	 Underline the correct word to complete the sentences that follow. 


	 (i)	 Cellulosic fibres come from    animals  /  plants.	 [1]


	 (ii)	 Calendaring improves a material’s    drape  /  lustre.	 [1]


Warp knitting / Weft knitting Plain weave / Twill weave







(4131-01) Turn over.


13
Examiner


only
	 (c)	 (i)	 Explain the difference between a mixed fibre and a blended fibre.	 [2]


	


	


	


	 (ii)	 Explain what a regenerated fibre is.	 [2]


	


	


	


	 (iii)	 Name two regenerated fibres.	 [2]


		  I: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .       II: . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	 (d)	 Smart materials change their appearance in response to external conditions. 


		  Name two smart materials and describe how each material changes its appearance. 


		  Smart material name 1:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]


		  Description:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]


		  Smart material name 2:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]


		  Description:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]


© WJEC CBAC Ltd.
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Question   
On 


Paper 
Question 


Totals 
Overall 
TOTAL 


8 (a) (i) No answer or the answer is incorrect – 0 mark 0    
   Only acceptable answers in this order: 


WORD PROCESSOR 
POWER POINT 
SPREADSHEET 


 
1 
1 
1 


 
 
 


3 
 


  


  (ii) No answer or an incorrect answer – 0 mark 0    
   Award up to two marks for answers based on knowledge of desk 


top publishing: inserting tables/charts from spread sheets and 
pictures from a range of sources, bringing them together and 
inserting them into text or columns easily; being able to adjust the 
layout of the report -changing font styles and sizes to suit a style; 
ability to move images around the text with ease; it provides a more 
professional looking document  
. 
No marks to be awarded for unqualified assertions, e.g. 
quicker, easier, faster etc. 


 
 


 
 
 
 
 
 
 


3 


 
 
 
 
 
 
 
 


 


   Award one mark for a basic answer for example: you can fit 
pictures and charts in between text and move them around to 
improve the layout with ease. 


 
 


1 


   


   Award two marks for a more developed response for example: you 
can fit pictures and charts in between or alongside text and move 
them around, resize them to improve the overall layout of the 
report. 
 


 
 


2 


 
 


2 


 
 


5 


 


 (b) (i) No answer or an incorrect answer – 0 mark 0    
   Award one mark for an answer based on: this is a QC 


point/decision point where decision regarding quality would be 
stated. 
 


 
1 


   


  (ii) No answer or an incorrect answer – 0 mark.     
   Award one mark for an answer based on: this symbol means a 


process; an instruction on the process to be carried out. 
 


 
1 


 
2 


  


  (iii) No answer or an answer that does not include information normally 
included on a flowchart - 0 mark 


 
0 


   


   Award one mark for an appropriate piece of information based on:  


 input (1mark); data needed to go into the system e.g materials 
and components so the manufacturer knows what is needed. (1 
mark). 


 Feedback loop (1 mark); following a QC point it is important 
that the system is running properly and standards are 
maintained (1 mark). 


 Ouput (1 mark); data on completion – what the intended 
outcome is so everyone concerned knows e.g quantities/ 
product. (1 mark). 


 Safety; precautions needed/identify hazards. 


 Time; for each process. 
 


 
1+ 1 
or 


 
1+1 
or 


 
1+ 1 


 
 
 
 
 
 


2 


 
 
 
 
 
 


4 
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Question   
On 


Paper 
Question 


Totals 
Overall 
TOTAL 


 (c) (i) No answer or an incorrect answer – 0 mark 0    
   Award one mark for a suitable named programme based on: 


photoshop; speedstep; corel draw; publisher.  
Accept other suitable programmes. 


 
 


1 


 
 


1 
 


  


  (ii) No answer or an incorrect answer – 0 mark 0    
   Award up to 3 marks for fully developed answers based on: textile 


designers can create patterns using a suitable CAD package and 
send the designs immediately to a printer for printing onto materials 
(CAM); no limits on colour ways; instant sample materials; a wide 
range of colour ways can be created and compared; high quality 
results; samples can be shown to clients quickly.  
No marks to be awarded for unqualified assertions, e.g. 
Quicker, faster, easier  etc. 


    


   Award one mark for a basic response for example: the designer 
can see the end result instantly as designs can be sent directly 
from the computer to the printer for printing on material. 


 
 


1 


   


   Award two marks for a more developed response for example: the 
designer can see the end result instantly as designs can be sent 
directly from the computer to the printer for printing on material. 
Changes can be made instantly with no restriction on the number of 
colour ways. 


 
 
 
 


2 


   


   Award three marks for a fully developed response for example: the 
designer can see the end result instantly as designs can be sent 
directly from the computer to the printer for printing on material. 
Changes can be made instantly with no restriction on the number of 
colour ways; these can be shared with clients and 
adapted/changed if necessary.  
 


 
 
 
 


3 


 
 
 
 


 3 


  


  (iii) No answer or an incorrect answer – 0 mark 0    
   Award up to two marks for a developed answer based on: 3D 


design is where designers can simulate 3D/realistic images on 
screen and get a better understanding of how their ideas will work 
in reality even before they are made. 


    


   Award one mark for a basic response for example: a realistic 3D 
image can be created on the computer. 


 
1 


   


   Award two marks for a more developed response for example: a 
realistic image in 3D format can be created on the computer using 
suitable software which allows for a realistic view of a product 
before it is made. 
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   Total for Question 8   15 120 


 








Sticky Note

Knowledge of desk top publishing was needed to gain marks here. Basic assertions relating to ease of use or quicker do not gain credit. Acceptable answers were based on: ability to adjust the layout; combining pictures/charts from other programmes; ability to insert pictures/text in columns; changing the style of font/layout with ease; a more professional looking document. Few gained full marks - knowledge weak.



Sticky Note

This is a decision box or it could be referred to as a quality control check point. Both are acceptable answers.



Sticky Note

Some confusion  and lack of clarity in the answer. This symbol is a process: where a specific instruction is stated.



Sticky Note

Other acceptable answers include: 

INPUT: data to to go into the system;

OUTPUT: data on completion;

SAFETY: identifying hazzards;

TIME: needed for each process or stage.









Sticky Note

Other acceptable answers include for example: photoshop, publisher, speedstep, corel draw.



Sticky Note

Answers were often confused and related to the advantages of CAD as in this example. To gain full marks candidates needed to demonstrate understanding of the LINK between the CAD aspect and the immediacy of printing directly onto a length of material. Unqualified assertions - quicker, easier, faster gain NO CREDIT.



Sticky Note

Unqualified assertions ie. easier, quicker do not gain credit in this type of question. Candidates need to demonstrate a clear body of knowledge - few do this! Acceptable answers for this question include: designers can simulate 3D/realistic images on screen and get a better understanding of how their ideas will work in reality even before they are made.












Sticky Note

The candidate has demonstrated some knowledge of desk top publishing but there is also repetition in the answer so only worth one mark. To gain the second mark the candidate could have explained for example how the text could be wrapped around the images to improve the layout.







Sticky Note

The candidate has not fully understood what the question is about and therefore the answer is incorrect. The images were included to support candidates in attempting to answer the question. The question requires candidates to show understanding of how textile designers can create patterns using a suitable CAD package and send the designs immediately to a printer for printing onto materials (CAM); no limits on colour ways; instant sample materials; a wide range of colour ways can be created and compared; high quality results; samples can be shown to clients quickly. 



Sticky Note

Some understanding shown and worth one mark. For the additional mark to be awarded the candidate could have elaborated on being able to visualise a realistic image of the product before it is made.

The second part of this answer is irrelevant.












Sticky Note

The candidate does not understand the question or has not read it properly.

Correct answers worth up to two marks should be based on: inserting tables/charts from spread sheets and pictures from a range of sources, bringing them together and inserting them into text or columns easily; being able to adjust the layout of the report -changing font styles and sizes to suit a style; ability to move images around the text with ease; it provides a more professional looking document ……..

Knowledge of desk top publishing is essential in order to answer this question properly.



Sticky Note

Correct answer: decision box or quality control point.



Sticky Note

Implies an instruction or process - an acceptable response.



Sticky Note

The answer is clearly incorrect.

Acceptable answers include: 

• Input: data needed to go into the system e.g materials and components so the manufacturer knows what is needed.

• Feedback loop: following a QC point it is important that the system is running properly and standards are maintained.

• Ouput: data on completion – what the intended outcome is so everyone concerned knows e.g quantities/ product.









Sticky Note

Some basic knowledge has been demonstrated and is just about sufficient for one mark. To gain the additional marks the candidate would have to explain the LINK to the printer (CAM) being immediate so sample lengths can be produced immediately.



Sticky Note

This question is not about laser cutters and is incorrect. For up to two marks to be awarded candidates should have based their answers on: 3D design is where designers can simulate 3D/realistic images on screen and get a better understanding of how their ideas will work in reality even before they are made.
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8.	 This question is about ICT, CAD, CAM, Systems and Processes. It is worth a total of 15 marks.


	 (a)	 (i)	 Place a tick (√) in the table below to match the most suitable software package to 
use for each of the tasks listed.	 3 × [1]


	 (ii)	 Give one detailed reason for using ICT to present a report that includes charts and 
pictures.	 [2]


	


	


	


	 (b)	 The symbols shown below are used on flowcharts to show the main manufacturing stages 
of textile products. Describe the type of information that would be written in the following 
symbols.


	 (iii)	 Describe one other piece of information found in a flowchart and give a reason for 
its importance.


		  Information:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]


		  Reason:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


			  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]
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Task Spreadsheet Power point Word 
processor


A written report on the latest fashion 
trends to hit the high street.


A slide show displaying a range of 
design ideas.


A breakdown of manufacturing costs 
between competitor products.


	 (i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]


	 (ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .	 [1]
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	 (c)	 (i)	 Name one CAD programme that could be used to create patterns for materials like 
the designs shown below.	 [1]


		  (ii)	 Digital printers (CAM) linked to CAD programmes like the ones shown in the pictures 
below are increasingly used in the textile industry to print materials.


			   Describe the benefits to the designers of digital CAD/CAM printing processes.	 [3]


	


	


	


	


	


	 (iii)	 Explain why designers use ICT to create 3D designs.	 [2] 


	


	


	


END OF PAPER
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